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Logarithm Test Review Date: Period:
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and/or condense a logarithm*

*You also need to be able to expand
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Exponential Review
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Graph the function. State whether the function represents exponential growth or exponential decay.

Identify the asymptote, domain, range, end behavior, and any transformations:
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Accelerated Geometry CC Name:
Exponential Review Date: Period:

5. You deposit $10,000 in your account that pays 3.5% interest. Write an exponential growth model

-P/\ giving the final amount A (in dollars) after t years. What is the amount you will have after 5 years.
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6. You buy a new computer and accessories for $1200. The value of the computer decreases by 30%
each year. Write an exponential decay model giving the computer’s vale V (in dollars) after t years. What
is the value of the computer after 4 years?
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7. Graph the function. Identify the domain and range. Then find the inverse function and graph. Also,
identify the domain and range for the inverse function.
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